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NEW QUESTION 1
- (Topic 1)
The main benefit of a mass customization product design strategy is to:

A. sell high quantities of product to specific customer segments.
B. achieve economies of scale in purchasing components.
C. offer more product variety while keeping inventories low.
D. avoid assembly of finished products.

Answer: C

NEW QUESTION 2
- (Topic 1)
Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.
B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.
D. Marketing and development incorporates SCOR Level I metrics for new product design.

Answer: B

NEW QUESTION 3
- (Topic 1)
A large manufacturer wanting to be more competitive in the global market place decided to outsource its transportation and return processing to other companies
on a contractual basis. The companies providing the services would be referred to as:

A. fourth party logistics providers.
B. third party logistics providers.
C. retail services providers.
D. distribution services providers.

Answer: B

NEW QUESTION 4
- (Topic 1)
Which of the following situations is an example of postponement?

A. Shipments are broken down into small groups for reshipment.
B. Shipments are consolidated immediately for reshipment.
C. Production begins after a customer order is received.
D. Partially assembled goods are assembled at a later stage.

Answer: D

NEW QUESTION 5
- (Topic 1)
Which of the following consequences is a result of shipping directly from the point of manufacture to the customer rather than through a distribution network?

A. Delivery lead times are consistent.
B. Risk pooling benefits are negated.
C. Distribution overhead is increased.
D. Order-fill rate is decreased.

Answer: B

NEW QUESTION 6
- (Topic 1)
A remanufacturer of equipment is most likely to have what type of supply chain?

A. Modular logistics
B. Reverse logistics
C. Mixed model
D. Lateral

Answer: B

NEW QUESTION 7
- (Topic 1)
The use of a seasonal index as a forecasting technique measures the ratio of the:

A. average seasonal demand to the average demand for all periods.
B. average demand for all periods to the average seasonal demand.
C. average seasonal demand to the standard deviation of the demand for all periods.
D. standard deviation of the seasonal demand to the standard deviation of demand for all periods.
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Answer: A

NEW QUESTION 8
- (Topic 1)
Which of the following corporate strategies is most consistent with a flexible supply chain strategy?

A. Being the low-price leader
B. Providing the highest-quality service
C. Providing mature products with stable sales
D. Emphasizing the quality of the product

Answer: B

NEW QUESTION 9
- (Topic 1)
Which of the following strategies is used primarily for demand planning?

A. Build-to-order scheduling
B. Push-pull replenishment
C. Collaborative planning, forecasting, and replenishment
D. Vendor-managed inventory

Answer: C

NEW QUESTION 10
- (Topic 1)
Which of the following marketing strategies emphasizes offering services at a lower price than rival services with comparable features?

A. Cost leadership
B. Service differentiation
C. Customer focus
D. Market responsiveness

Answer: A

NEW QUESTION 10
- (Topic 1)
Which of the following results can be expected from sharing a common understanding of demand and consumption patterns among supply chain participants?

A. Improved transparency of collaboration relationships
B. Increased performance in balanced scorecard
C. Reduced inventory levels for key items
D. Better synchronization of planning and operations

Answer: D

NEW QUESTION 14
- (Topic 1)
A company has been delivering a global product that no longer appears profitable. Senior management’s best response is to:

A. analyze product profitability by market segment.
B. discontinue the product based on eroding profitability.
C. provide additional incentives to the sales force.
D. increase promotional activity across all markets.

Answer: A

NEW QUESTION 17
- (Topic 1)
Using an independent service provider for logistics would be most appropriate in which of the following situations?

A. A shoe company that wants to penetrate a foreign market
B. A business that owns plants and warehouses globally
C. A financial services company that wants to expand its services
D. A cable television company that wants to add services

Answer: A

NEW QUESTION 19
- (Topic 1)
In addition to sales history, current customer orders, and forecasted demand, which of the following data sources should be used as part of a demand
management process?

A. Inventory levels
B. Contractual obligations
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C. Customer profitability
D. Scheduled marketing activities

Answer: D

NEW QUESTION 20
- (Topic 1)
A company that produces standardized products and sells them through retailers via a responsive transportation system has decided to expand its sales with an
online store for customized products. Which of the following distribution strategies would be the most appropriate for the business-strategy change?

A. Local distribution centers serving retailers and online sales
B. Centralized cross-docking facilities serving retailers and online sales
C. A centralized distribution center serving retailers and direct shipment from the factory serving online sales
D. A centralized distribution center serving retailers with transshipment arrangements serving online sales

Answer: C

NEW QUESTION 21
- (Topic 1)
After identifying the potential causes for delays in communicating demand information up the supply chain, the trading partners should take which of the following
actions?

A. Implement a higher-speed data communications network.
B. Change procedures so data is communicated more frequently.
C. Identify the root causes for the delays.
D. Map and analyze the value stream.

Answer: C

NEW QUESTION 26
- (Topic 1)
A firm has identified groups of customers based on specific characteristics the customers desire from products and services the firm can provide. Characteristics
include lead times, pricing tiers, and service levels. The firm is engaged in which of the following activities?

A. Customer differentiation
B. Order winner segregation
C. Market segmentation
D. Channel definition

Answer: C

NEW QUESTION 29
- (Topic 1)
A media company offers a majority of its movies through a specific distributor. The media company is beginning to produce content for a new foreign market to
which the distributor has exclusive access. To maximize savings and gain entry to this new market, the media company should:

A. create a contract for the new market.
B. enter into a partnership.
C. form a strategic alliance.
D. acquire the distributor.

Answer: C

NEW QUESTION 33
- (Topic 1)
Which of the following benefits of supplier relationship management typically results from collaboration with a few critical suppliers?

A. Automation of supplier sales activities
B. Elimination of formal contracts
C. Reduction in customer and supplier inventories
D. Standardization of communications

Answer: C

NEW QUESTION 35
- (Topic 1)
A company's annual cost of goods sold is $350 million, and inventory carrying cost is 18%. The company averages four inventory turns. The cost savings resulting
from increasing inventory turns from four to six would be:

A. $29,000,000.
B. $15,750,000.
C. $10,500,000.
D. $ 5,250,000.

Answer: D
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NEW QUESTION 36
- (Topic 1)
Which of the following types of information would be an appropriate basis for a qualitative forecast?

A. Leading indicators
B. Market research data
C. Order history
D. Shipment history

Answer: B

NEW QUESTION 38
- (Topic 1)
Medium-term demand management projections are used primarily to:

A. complete strategic business planning of facilities.
B. complete forecasts at the item level.
C. aggregate demand for production planning.
D. develop the master production schedule.

Answer: C

NEW QUESTION 41
- (Topic 1)
A manufacturer uses standard costing, and a potential supplier uses activity-based costing. This difference most likely will have implications for which of the
following types of future decisions?

A. Price concessions
B. Make-or-buy
C. Distribution warehouse locations
D. Freight terms

Answer: B

NEW QUESTION 43
- (Topic 1)
The factors to consider in the make-or-buy decision include costs, proprietary knowledge, and:

A. design history.
B. available capacity.
C. inventory balance.
D. warehouse location.

Answer: B

NEW QUESTION 44
- (Topic 1)
Which of the following situations is an example of inventory being held as a way to balance supply and demand?

A. A manufacturer holds inventory of key components to maintain a level production schedule.
B. A manufacturer of seasonal products builds finished-goods inventory before the peak
C. selling period.
D. A distributor maintains safety stock of slow-moving items at a central distribution center.
E. A retailer stocks a variety of sizes and colors of a fast-selling item to avoid losing sales.

Answer: B

NEW QUESTION 47
- (Topic 1)
Which of the following levels in a supply chain network represents the most upstream external activity?

A. Supplier to contractor
B. Manufacturing to supplier
C. Customer to distribution
D. Customer to contractor

Answer: A

NEW QUESTION 49
- (Topic 1)
Compared to mass-media marketing, customer relationship management has the advantage of allowing the organization to:

A. compete for customers based on service.
B. reach a larger number of potential customers.
C. reduce inventory to improve cash flow.
D. focus on attracting new customers.
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Answer: A

NEW QUESTION 51
- (Topic 1)
A company’s decision to charge different prices for the same service sold in different market segments is most likely based on which of the following metrics?

A. Internal rate of return (IRR)
B. Lifetime customer value (LCV)
C. Net present value (NPV)
D. Return on investment (ROI)

Answer: B

NEW QUESTION 56
- (Topic 1)
The value that logistics provides within the supply chain can best be summarized as:

A. satisfying customer expectations about availability and delivery at an acceptable total cost.
B. meeting promised location and on-time delivery goals with minimal use of expediting.
C. establishing inventory and delivery goals with various customers that fulfill the firm's profit objectives.
D. providing accurate in-transit and delivery information to customers and salespeople.

Answer: A

NEW QUESTION 58
- (Topic 2)
Which of the following strategies would increase overall supply chain risk?

A. Single sourcing a product that makes the highest annual profit
B. Outsourcing a product that is not well suited to your operations
C. Identify multiple sources for a product that has a potential for supply chain disruption
D. Internally manufacturing a product that has a high level of technical intellectual property

Answer: A

NEW QUESTION 63
- (Topic 2)
A company currently produces custom goods for a limited market. To increase market share, the company will implement a strategy to reduce the number of
products it produces and reduce delivery lead time. The company can increase its chances of achieving the strategy by:

A. using benchmark data for products in the same product groups.
B. incorporating results from market surveys.
C. involving customers in the product design process.
D. using electronic communications to receive customer complaints.

Answer: C

NEW QUESTION 66
- (Topic 2)
When a company undertakes a win-back strategy without considering the profitability of customer accounts, it is neglecting which of the following key elements?

A. Loyalty
B. Scoring
C. Segmentation
D. Prospecting

Answer: C

NEW QUESTION 69
- (Topic 2)
What are the steps in the supplier relationship process?

A. Measure, fulfill, document, model
B. Source, document, manage
C. Measure, procure, fulfill, model
D. Source, procure, fulfill, manage

Answer: D

NEW QUESTION 73
- (Topic 2)
The transportation manager at a consumer goods manufacturer has decided to begin shipping full truckload rather than less-than-truckload quantities. Which of the
following
outcomes is likely following implementation of this decision?
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A. Inventory levels at the manufacturer will decrease.
B. Lead times as seen by the customer will increase.
C. Production efficiencies at the manufacturer will increase.
D. Transportation costs as seen by the customer will increase.

Answer: B

NEW QUESTION 77
- (Topic 2)
A company ships from its manufacturing facilities directly to its warehouses. If the number of warehouses increases, transportation costs between manufacturing
facilities and warehouses most likely will:

A. increase.
B. decrease.
C. not change.
D. become less predictable.

Answer: A

NEW QUESTION 80
- (Topic 2)
In the Supply Chain Operations Reference-model (SCOR®), the cash-to-cash cycle time for a manufacturing company is the number of days between which two of
the following
situations?

A. Paying for raw materials and getting paid for the product
B. Shipping the product from the warehouse and receiving it at the customer's location
C. Paying for raw materials and sending an invoice to the customer
D. Billing the customer and getting paid for the product

Answer: A

NEW QUESTION 82
- (Topic 2)
Which of the following actions is in accordance with the Ten Principles in the United Nations (UN) Global Compact?

A. Preventing a group of employees from forming a collective bargaining (union) group
B. Paying different wages in different parts of the world for a given job classification
C. Requiring an individual to pay a fee for consideration in hiring or promotion decisions
D. Withholding certain employment opportunities from specific groups of people

Answer: B

NEW QUESTION 85
- (Topic 2)
Allowing for organizational restructuring is an example of which of the following steps in creating successful strategic alliances among suppliers?

A. Managing multifaceted relationships
B. Negotiating a win-win deal
C. Planning for change
D. Conducting pulse checks

Answer: C

NEW QUESTION 89
- (Topic 2)
A company closely monitors supplier performance and notices recent late deliveries from one supplier. The supplier discloses flood damage at the plant. The
company quickly shifts sourcing to a new supplier and has minimal loss of sales. Which of the following risk strategies reflects the company's actions?

A. Achieving low cost through reaction
B. Creating an adaptive supply chain community
C. Reducing supply chain vulnerability
D. Investing in redundancy

Answer: B

NEW QUESTION 92
- (Topic 2)
Which of the following processes would a company use to evaluate the risk profile for end- of-life planning for a product family?

A. Distribution requirements planning
B. Sales and operations planning
C. Rough-cut capacity planning
D. Production activity control

Answer: B
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NEW QUESTION 94
- (Topic 2)
The United Nations Global Compact uses 10 guiding principles to:

A. reduce uncertainty for multinational firms regarding legal, import/export, labor, and environmental standards across countries.
B. set minimum levels of compliance across a broad range of transactional areas for businesses operating in multiple geographic regions.
C. align the needs of businesses to increase profitability and the needs of individual countries to ensure their specific legal requirements are met.
D. help ensure that markets, commerce, technology, and finance promote advancement of economies and societies everywhere.

Answer: D

NEW QUESTION 99
- (Topic 2)
Which of the following strategies can be used to help manage global risks?

A. Direct shipment
B. Cross-docking
C. Mass customization
D. Flexibility

Answer: D

NEW QUESTION 100
- (Topic 2)
The mission of the global reporting initiative (GRI) is to provide a:

A. comparison of key metrics for companies in the same industries across the globe.
B. feasible business plan that can be shown to global potential investors.
C. trusted and credible framework for reports regarding sustainability practices.
D. transparent collaboration between non-profit organizations and governments.

Answer: C

NEW QUESTION 103
- (Topic 2)
A company's supply chain depends heavily on sourcing from international suppliers. Conditions increasingly threaten supply continuity. Which of the following
actions is most
appropriate?

A. Source from domestic suppliers.
B. Conduct a risk assessment.
C. Carry additional safety stock.
D. Spread logistics across multiple carriers.

Answer: B

NEW QUESTION 105
- (Topic 2)
The customer who provides point-of-sale data remains the sole decision-maker regarding order quantities when what type of inventory strategy is used?

A. Continuous replenishment
B. Advanced continuous replenishment
C. Vendor-managed replenishment
D. Quick response

Answer: D

NEW QUESTION 107
- (Topic 2)
When doing international business, a company's total line-haul costs will vary with the:

A. weight shipped.
B. distance shipped.
C. pallets shipped.
D. volume shipped.

Answer: B

NEW QUESTION 109
- (Topic 2)
Inventory parameters established using analytic inventory techniques typically are based on balancing:

A. supply and dependent demand.
B. customer service and inventory costs.
C. transportation and warehousing costs.
D. inventory levels and decision-making costs.

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full CSCP dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/CSCP-exam-dumps.html (510 New Questions)

Answer: B

NEW QUESTION 112
- (Topic 2)
The most important challenge to consider when sourcing globally is:

A. the identification of sources capable of producing the materials.
B. the availability of low-cost labor and energy.
C. complying with specific import/export issues.
D. balancing the difference between piece price and total cost.

Answer: D

NEW QUESTION 117
- (Topic 2)
Which of the following ISO standards is used to assist organizations with sustainable development?

A. ISO 31000
B. ISO 14001
C. ISO 26000
D. ISO 9001

Answer: C

NEW QUESTION 120
- (Topic 2)
An effective procurement strategy for commodity products should focus on:

A. driving down cost and reducing risk.
B. spreading purchases equally across suppliers.
C. selecting primary and alternate sources.
D. selecting suppliers with value-added products.

Answer: A

NEW QUESTION 122
- (Topic 2)
Which of the following distribution approaches for a low-volume, high-variety product line typically will result in the highest level of customer service and the lowest
total distribution costs?

A. Direct shipment from plant to customers
B. Shipment from a central distribution warehouse
C. Shipment through a multi-echelon distribution network
D. Outsourcing the distribution function

Answer: A

NEW QUESTION 127
- (Topic 2)
The best way to manage a business relationship is to measure performance to:

A. cost of ownership metrics.
B. quality targets.
C. on-time delivery.
D. agreed-upon metrics.

Answer: D

NEW QUESTION 131
- (Topic 2)
A company that is focused on customer relationship management is most likely to take which of the following actions for customers who have been profitable over
time?

A. Reduce the cost of serving them.
B. Target them for higher margin services.
C. Target them for greater attention.
D. Charge them for administrative services used.

Answer: C

NEW QUESTION 134
- (Topic 2)
A company originally based in Germany sets up companies in India, China, Vietnam, Mexico, and Brazil. It sources most of the raw materials locally and employs
the local workforce to manage and produce finished goods. Most of the goods produced are consumed in the same country. The company can be classified as
what type of enterprise?
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A. Globally integrated
B. Domestic
C. Multinational
D. Virtual

Answer: C

NEW QUESTION 137
- (Topic 2)
A firm is undertaking a revision of its financial metrics to make them more comprehensive and has decided to use metrics such as return on investment (ROI),
return on assets (ROA), and economic value added (EVA). This is an example of utilizing which of the following types of metrics?

A. Activity based
B. Stakeholder focused
C. Financial sustainability
D. Value chain

Answer: C

NEW QUESTION 138
- (Topic 2)
A manufacturer offers a trade-in allowance on a new machine when the customer returns the old machine. The manufacturer reconditions the returned machine
locally and then sells it on the used market for a profit. This program is an example of a focus on:

A. environmentally sensitive engineering.
B. gray box design.
C. green manufacturing.
D. sustainability in operations.

Answer: D

NEW QUESTION 139
- (Topic 2)
What is the primary benefit of using a central storage warehouse for all components rather than using point-of-use storage?

A. Reduced need for bar codes and radio frequency identification technology
B. Reduced material handling costs
C. Ease of control and count accuracy
D. Maintain a cleaner shop floor

Answer: C

NEW QUESTION 144
- (Topic 3)
Which of the following outcomes is an advantage of automating the request-for-quote process?

A. Reducing cycle time
B. Disposing of excess inventories
C. Centralization of product service content
D. Enabling contract management

Answer: A

NEW QUESTION 147
- (Topic 3)
Which of the following outcomes most likely is the primary reason for outsourcing production of a new product?

A. Increase control of the supply chain
B. Increase flexibility of the supply chain
C. Reduce required capital investment
D. Reduce the need for skilled workers

Answer: C

NEW QUESTION 152
- (Topic 3)
Which of the following changes often leads to higher levels of inventory?

A. Decrease in customer service level
B. Decrease in vendor lead times
C. Increase in economies of scale
D. Increase in warehouse holding costs

Answer: C

NEW QUESTION 156
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- (Topic 3)
Which of the following statements best identifies the value of using a supplier rating system?

A. It provides an objective means for a company to determine outstanding suppliers.
B. It allows customers to post chargebacks to suppliers.
C. It offers a company an effective way to control suppliers' delivery processes.
D. It ensures that all suppliers are using the same quality standards to manufacture products.

Answer: A

NEW QUESTION 157
- (Topic 3)
On-time delivery performance in the supply chain can best be improved by aligning required capacity with what type of capacity?

A. Demonstrated
B. Rated
C. Budgeted
D. Theoretical

Answer: A

NEW QUESTION 158
- (Topic 3)
Measurement of service to the customer should consider which of the following strategic priorities?

A. Cash flow
B. Responsiveness
C. Order cycle time
D. Forecast accuracy

Answer: B

NEW QUESTION 163
- (Topic 3)
A company understates current revenue forecasts and delays the delivery of orders to meet the forecast. The most likely result of this practice is that shipments
will peak:

A. at the beginning of reporting periods.
B. randomly throughout reporting periods.
C. at both the beginning and end of reporting periods.
D. at the end of reporting periods.

Answer: A

NEW QUESTION 166
- (Topic 3)
Functional products require which of the following types of supply chain process?

A. Restrictive
B. Innovative
C. Efficient
D. Integrated

Answer: :C

NEW QUESTION 167
- (Topic 3)
What benefit does Radio Frequency Identification (RFID) technology provide for a high- volume, low-cost manufacturer?

A. Reduces store thefts
B. Eliminates the effects of bullwhip
C. Eliminates stock out at store level
D. Reduces number of touch points in pallet handling

Answer: D

NEW QUESTION 170
- (Topic 3)
Which of the following export documents is used as the basis for the valuation of goods for insurance purposes and for assessment of duties?

A. Export license
B. Export declaration
C. Bill of lading
D. Commercial invoice

Answer: D
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NEW QUESTION 175
- (Topic 3)
A juice manufacturer wants to determine the time required to convert a dollar spent on materials into a dollar received in sales. Which of the following metrics
would be most
appropriate to make this determination?

A. Activity-based costing
B. Inventory carrying cost
C. Cash-to-cash cycle time
D. Average financial turnover

Answer: C

NEW QUESTION 178
- (Topic 3)
Supplier certification procedures verify that a supplier:

A. is ISO certified.
B. implements, documents, and improves procedures related to customer requirements.
C. tracks manufacturing processes, including bills of material and routings to support the processes.
D. manufactures products to the specifications shown on engineering documents and bills of material.

Answer: B

NEW QUESTION 179
- (Topic 3)
Organizations that change from a traditional purchasing perspective to a supply chain perspective most likely will adopt techniques related to:

A. product pricing.
B. value stream analysis.
C. centralized decision making.
D. sourcing multiple suppliers.

Answer: B

NEW QUESTION 181
- (Topic 3)
Market segmentation is important within the logistics function because it:

A. leads to profitable exchanges with the customer and creates intrinsic customer value
B. supports transactional marketing priorities for successful commodity exchanges to customers globally
C. enables companies to position their products throughout the distributor network based on customer need
D. creates perception in the mind of the customer as available products and services are exchanged

Answer: C

NEW QUESTION 185
- (Topic 3)
A retailer sets service-level targets intended to maximize total profit. The retailer's service level target should be highest for items with a high profit margin and:

A. low variability of demand.
B. made to stock.
C. small replenishment lot size.
D. made to order.

Answer: A

NEW QUESTION 188
- (Topic 3)
A company handling sale of product discarded by consumers is what type of provider?

A. Third party logistics (3PL)
B. Reverse logistics
C. Fourth party logistics (4PL)
D. Warehousing

Answer: B

NEW QUESTION 192
- (Topic 3)
Which of the following characteristics is typical of a highly complex product when compared with a simple commodity product?

A. Lower product cost
B. Longer cycle time
C. Increased ability to change
D. Lower profitability
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Answer: B

NEW QUESTION 197
- (Topic 3)
A company used Global Reporting Initiative guidelines to complete a self-assessment. Which of the following actions would be the most appropriate next step?

A. Share information with all stakeholders
B. Obtain top management support
C. Identify action items
D. Conduct gap analysis

Answer: D

NEW QUESTION 202
- (Topic 3)
Which of the following approaches most likely will help a company reduce its cost of sales while increasing customer loyalty?

A. Business process design
B. Business development mapping
C. Customer relationship management
D. Sales contact management

Answer: C

NEW QUESTION 207
- (Topic 3)
The most useful inventory costing method which enables purchase price variance analysis
is:

A. average costing.
B. standard costing.
C. last in first out (LIFO) costing.
D. first in first out (FIFO) costing.

Answer: B

NEW QUESTION 209
- (Topic 3)
Which of the following conditions are most indicative of a company that is effectively managing its cash?

A. Low accounts receivable, low inventory, high accounts payable
B. High accounts receivable, low inventory, high accounts payable
C. Low accounts receivable , high inventory, low accounts payable
D. High accounts receivable, high inventory, low accounts payable

Answer: A

NEW QUESTION 210
- (Topic 3)
Which of the following types of supply chains is characterized by difficulty in responding to rapidly changing demand patterns?

A. Push-based
B. Pull-based
C. Innovative
D. Collaborative

Answer: A

NEW QUESTION 211
- (Topic 3)
Which of the following costs is an example of ordering cost?

A. Inspection labor
B. Obsolesence
C. Cost of capital invested
D. Insurance

Answer: A

NEW QUESTION 215
- (Topic 3)
Effective sales and operation planning (S&OP) is most likely to result in which of the following benefits?

A. Better customer service
B. Better product quality
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C. Lower product cost
D. Lower work-in-process (WIP) inventory

Answer: A

NEW QUESTION 218
- (Topic 3)
Which of the following manufacturing strategies typically generates the lowest supply chain inventory?

A. Make to Stock
B. Assemble to Order
C. Make to Order
D. Engineer to Order

Answer: D

NEW QUESTION 221
- (Topic 3)
A company may reduce its amount of safety stock by:

A. substituting information for inventory.
B. increasing the number of retailers.
C. increasing the number of producers.
D. changing to a push system.

Answer: A

NEW QUESTION 226
- (Topic 3)
A large, global third party logistics provider (3PL) is contemplating the switch to the use of ethanol-based fuel in its truck fleet and wants to identify the impact of
this change on food prices. Which of the following attributes of the triple bottom line (TBL) are part of this trade off decision?

A. Organizational, financial and social
B. Social, financial and environmental
C. Social, environmental and organizational
D. Organizational, financial and environmental

Answer: B

NEW QUESTION 228
- (Topic 3)
Before discontinuing a product based on activity-based cost calculations, one should primarily consider the effects upon:

A. activity-based cost calculations of other products.
B. value stream mapping of complementary products.
C. research and development (R&D) costs of new products.
D. overhead absorption rates across product lines.

Answer: A

NEW QUESTION 229
- (Topic 3)
Which of the following tradeoffs should be considered when selecting logistics options?

A. Safety stock levels and customer service levels
B. Inventory levels and scheduling operations
C. Transportation cost and speed of delivery
D. Centralized and decentralized distribution network

Answer: C

NEW QUESTION 232
- (Topic 3)
A manufacturer has direct relationships with its tier 1 suppliers. Which of the following supplier capabilities is a benefit to the manufacturer establishing a direct
relationship with lower-tier suppliers?

A. Provides smaller lot sizes
B. Provides components with short lead times
C. Provides Just in Time deliveries
D. Provides information about impending shifts in the economy

Answer: D

NEW QUESTION 237
- (Topic 3)
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Which of the following elements is critical to successfully using a sales and operations planning process?

A. Focusing on performance of the past 12 to 18 months
B. Implementing a unified cross-functional plan and process
C. Implementing bottom-up decision making
D. Aligning the forecast to the annual budget

Answer: B

NEW QUESTION 242
- (Topic 3)
Which of the following manufacturing strategies would run the greatest risk of increasing obsolete inventory costs?

A. Make-to-stock
B. Assemble-to-order
C. Make-to-order
D. Engineer-to-order

Answer: A

NEW QUESTION 245
- (Topic 3)
The most common method for coping with demand variability in the manufacture of products with a lengthy cycle time is to have:

A. higher raw material inventory.
B. higher finished-goods inventory.
C. lower finished-goods inventory.
D. lower raw material inventory.

Answer: B

NEW QUESTION 248
- (Topic 3)
Which of the following procurement strategies is most appropriate for a high-risk, high- value item?

A. Procuring in bulk to take advantage of volume pricing
B. Using an electronic trading platform to source items securely
C. Entering into vendor managed inventory (VMI) agreement
D. Creating a close collaborative relationship with the supplier

Answer: D

NEW QUESTION 250
- (Topic 3)
ABC Corporation is implementing a website that connects clothing distributors and retailers with many different garment manufacturers from whom they can buy
finished goods. This website would be an example of:

A. virtual auction site.
B. intranet commerce.
C. a vertical exchange.
D. an Internet storefront.

Answer: C

NEW QUESTION 253
- (Topic 3)
Which of the following outcomes is an expected benefit of effectively implementing supply chain event management software?

A. Inventory data are captured in real time.
B. Files are transferred from one corporation to another.
C. Notifications of variances from plans are triggered.
D. Communication protocols between companies are standardized.

Answer: :C

NEW QUESTION 254
- (Topic 3)
Which of the following conditions is most likely to occur shortly after the introduction of an innovative product family?

A. Forecast errors will be low.
B. Production lead time will increase.
C. An inventory buffer will be required.
D. Demand will be stable.

Answer: C
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NEW QUESTION 257
- (Topic 3)
The practice of purchasing items in large quantities and requesting that shipments be
delivered directly to customers is referred to as:

A. drop shipping.
B. cross-docking.
C. breaking bulk.
D. freight equalization.

Answer: A

NEW QUESTION 258
- (Topic 3)
Which of the following activities is forbidden in a foreign trade zone?

A. Remarking or repackaging imports to avoid fines
B. Breaking up large shipments to reduce import duties
C. Reexporting goods without paying duties
D. Conducting retail trade

Answer: D

NEW QUESTION 262
- (Topic 3)
A company develops annual forecasts for key products and enters into annual contracts with key suppliers based on the forecasts. Which of the following benefits
would the company most likely receive from this approach?

A. Shorter delivery lead times
B. Lower prices
C. Improved service
D. Higher-quality products

Answer: B

NEW QUESTION 266
- (Topic 3)
If a company successfully implements a sales and operations planning process, which of the following measures would be expected to increase?

A. Percentage of on-time deliveries
B. Cash-to-cash cycle time
C. Forecast variation
D. Cost of goods sold

Answer: A

NEW QUESTION 267
- (Topic 3)
The production scheduler for a bottleneck resource should:

A. schedule additional preventive maintenance for the resource.
B. ensure a constant queue of work waiting to be processed.
C. increase production lot sizes to increase utilization of resources.
D. implement pull signals for production of the bottleneck resource.

Answer: B

NEW QUESTION 271
- (Topic 3)
Which of the following processes ensures that functional plans are consistent?

A. Strategic planning
B. Sales and operations planning
C. Project planning
D. Master scheduling

Answer: B

NEW QUESTION 273
- (Topic 3)
Which of the following statements indicates an attribute of international commercial terms (Incoterms)?

A. They are required contract terms for international trade.
B. Each term implies the responsibilities of the buyer and seller.
C. Discounts and surcharges are identified by the terms.
D. The terms are reviewed annually by the International Chamber of Commerce.
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Answer: B

NEW QUESTION 275
- (Topic 3)
A company discovers that several high-volume customers have very erratic ordering patterns. Which of the following actions is most likely to reduce variability?

A. Checking the demand status multiple times daily
B. Establishing Internet-enabled collaborative relationships
C. Implementing electronic data interchange transactions
D. Increasing safety-stock levels for items these customers order

Answer: B

NEW QUESTION 276
- (Topic 3)
Which of the following issues recently has caused companies to rethink implementation or continued use of a Just-in-Time system?

A. The upward trend in inventory carrying costs
B. The reduced number of potential suppliers
C. The elimination of billing documents
D. Higher transportation costs

Answer: D

NEW QUESTION 279
- (Topic 3)
Which of the following factors is most likely to slow the adoption of collaborative planning, forecasting, and replenishment (CPFR)?

A. The reluctance to share detailed information
B. The cost of electronic data interchange services
C. The risk that changed processes will disrupt operations
D. The risk of security breaches

Answer: A

NEW QUESTION 284
- (Topic 3)
Which of the following actions by a group of trading partners is most likely to improve the flow of funds among them?

A. Increasing the level of information sharing and collaboration
B. Negotiating a single set of terms for the trading partners
C. Reducing the time allowed for the timely payment discount
D. Implementing links among their information systems

Answer: A

NEW QUESTION 285
- (Topic 3)
Which of the following statements is true when a contract manufacturing agreement is implemented?

A. There is no longer a need for material requirements planning.
B. The total cost of acquiring products will decrease.
C. Communications and project management are key factors for success.
D. Assets on the contract manufacturer's balance sheet typically will decrease.

Answer: C

NEW QUESTION 287
- (Topic 3)
A manufacturer with operations in an area prone to natural disasters is reviewing its sustainability strategy. Which of the following production strategies should the
company implement to reduce the risk of supply interruptions?

A. Centralized
B. Decentralized
C. Make-to-order
D. Engineer-to-order

Answer: B

NEW QUESTION 290
- (Topic 3)
Managing risk should be a strategic part of supply chain management because:

A. the occurrence of unanticipated risks essentially can be eliminated.
B. not all members of the supply chain consider and respond to the same types of risks.
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C. substantial financial penalties can be assessed if legal requirements are not met.
D. it helps to reduce the occurrence and consequences of unplanned negative events.

Answer: :D

NEW QUESTION 291
- (Topic 3)
One operation in a four-stage process has been producing more than required and is causing elevated levels of work in process. Which of the following
approaches would be most appropriate to address the situation?

A. Kano
B. Kanban
C. Kaizen
D. Keiretsu

Answer: B

NEW QUESTION 296
- (Topic 3)
A project team has received 30 improvement ideas from subject matter experts in the business. Which of the following continuous improvement tools would be
most appropriate to use to sequence implementation timing based on an agreed-upon weighted criteria?

A. Affinity diagram
B. Matrix diagram
C. Prioritization matrix
D. Interrelationship digraph

Answer: C

NEW QUESTION 298
- (Topic 3)
Which of the following outcomes is most likely a result of allocating excess capacity to a supply chain facility?

A. Lower utilization which leads to higher cost
B. Higher utilization which leads to higher cost
C. Higher utilization which leads to lower cost
D. Lower utilization which leads to lower cost

Answer: A

NEW QUESTION 300
- (Topic 3)
Which of the following reverse logistics activities involves reusing refurbished products?

A. Return management
B. Disposal and reclamation
C. Decomposing and recycling
D. Remanufacturing and repair

Answer: D

NEW QUESTION 304
- (Topic 3)
Which of the following characteristics typically is a feature of supplier relationship management?

A. Supplier employees are located at the firm's facilities.
B. Inventory is verified before the supplier ships the goods.
C. Performance of both firms is measured and reported regularly.
D. The supplier is the sole source for the goods.

Answer: C

NEW QUESTION 308
- (Topic 3)
A key assumption of the economic order quantity (EOQ) is that:

A. future demand cannot be projected.
B. the rate of demand is continuous and constant.
C. reorder frequency is fixed.
D. as the lot size decreases, the setup cost per unit decreases.

Answer: B

NEW QUESTION 312
- (Topic 3)
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Which of the following metrics is the most appropriate measure of supply chain responsiveness?

A. Order fulfillment lead times
B. Percentage of orders delivered on time
C. Retail inventory days of supply
D. Upside production flexibility

Answer: D

NEW QUESTION 315
- (Topic 3)
What is the appropriate supply chain strategy for a product with low demand uncertainty and high economies of scale?

A. Pull
B. Push
C. Push-pull
D. Postponement

Answer: B

NEW QUESTION 319
- (Topic 3)
A company exports products to emerging markets. Which of the following approaches would be used to enhance compliance, minimize risks, and connect supply
chain activities?

A. Logistics network planning
B. Distribution requirements planning
C. Supply chain event management
D. Global trade management

Answer: D

NEW QUESTION 324
- (Topic 3)
In the supplier rationalization step of the supplier relationship management process, the supplier base is treated like:

A. a rival competitor in a tight market.
B. an extension of the enterprise.
C. a subcontractor with the lowest bid.
D. an end customer with 50% of the demand.

Answer: B

NEW QUESTION 329
- (Topic 3)
A car manufacturer has 40000 cars in inventory, of which 5000 are electric. The manufacturer expects to sell 5000 cars per day, of which 4000 are estimated to be
gasoline cars. The days of supply for electric cars is:

A. 40 days.
B. 10 days.
C. 8 days.
D. 5 days.

Answer: D

NEW QUESTION 332
- (Topic 3)
Marketing affects supply chain management decisions primarily by its involvement in:

A. analyzing economic indicators.
B. pricing, placing, and promoting products.
C. determining product requirements.
D. determining forecast error.

Answer: B

NEW QUESTION 333
- (Topic 3)
Designing a supply chain to maximize responsiveness and flexibility is most appropriate for which of the following types of organizations?

A. Public utility provider
B. Configurable products manufacturer
C. Commodity goods supplier
D. Luxury goods manufacturer

Answer: B
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NEW QUESTION 334
- (Topic 3)
Which of the following measures typically would be considered an aspect of the environmental impact of a supply chain?

A. Amount of funds invested in infrastructure improvements
B. Hours of employee education about environmental stewardship
C. Weight and volume of packaging materials used
D. Total number of people making a living wage

Answer: C

NEW QUESTION 336
- (Topic 3)
Which of the following constituents typically must provide information first to effectively improve supply chain design?

A. Supplier
B. Distribution system
C. Manufacturing
D. Customer

Answer: D

NEW QUESTION 339
- (Topic 3)
A company that locates manufacturing facilities in different countries so that an economic downturn in one country most likely will be offset by business in another
country is employing what type of strategy?

A. Speculative
B. Hedge
C. Flexible
D. Forecast

Answer: B

NEW QUESTION 341
- (Topic 3)
Which of the following actions is an initial step in a continuous process improvement model?

A. Creating a flowchart to map the process
B. Benchmarking against another company
C. Setting specific performance goals
D. Developing a realistic project plan

Answer: A

NEW QUESTION 342
- (Topic 3)
The profit margin for a product that is currently made in the company's facility has decreased during the past 2 years. Which of the following factors should be
considered when deciding whether to make or buy the product?

A. Production capabilities
B. Transportation capabilities
C. Distribution channels
D. Landed cost

Answer: D

NEW QUESTION 347
- (Topic 3)
Which of the following steps is first in developing a product differentiation strategy?

A. Study customer needs
B. Define customer segments
C. Determine design modifications
D. Establish competitive priorities

Answer: A

NEW QUESTION 348
- (Topic 3)
A company has adequate average available capacity but does not maintain surge capacity. With a distribution route to manage, which of the following actions will
provide the most capacity relief?

A. Increasing order-fulfillment lead times
B. Implementing allocation
C. Increasing prices with a 30-day effective date
D. Increasing product queue times
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Answer: A

NEW QUESTION 352
- (Topic 3)
A consumer goods manufacturer has introduced a new frozen product and encountered problems applying package labels consistently. Which of the following
methodologies would be most appropriate to use to identify the root cause of the problem?

A. Six sigma
B. Statistical process control
C. Lean production
D. Theory of constraints

Answer: A

NEW QUESTION 355
- (Topic 3)
A company uses multiple ingredients to make a product that is sold in multiple countries. Each country requires country-specific labels. A third-party supplier
provides the country- specific labels. The most appropriate push-pull interface is:

A. raw materials to product.
B. product to labels.
C. finished product with labels.
D. customer to finished product.

Answer: B

NEW QUESTION 360
- (Topic 3)
A company most likely would implement a supplier certification program to:

A. improve the supplier's procurement process.
B. abide by ISO standards.
C. validate the supplier's compliance with requirements.
D. implement point-of-sale (POS) terminals.

Answer: :C

NEW QUESTION 361
- (Topic 3)
In the analysis of costs, fixed costs are those that are:

A. independent of the volume of output.
B. dependent on the utilization of the asset.
C. inversely proportionate to the volume of output.
D. constant through the useful life of the asset.

Answer: A

NEW QUESTION 362
- (Topic 3)
A company regularly issues sustainability reports in accordance with the Global Reporting Initiative (GRI) framework and uses the reports to track continuous
improvement. Which of the following topics could be found in the sustainability reports?

A. Labor practices
B. Product specifications
C. Raw material costs
D. Currency exchange rates

Answer: A

NEW QUESTION 363
......
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